[ Compute zg = 61005 from equation (26). J

¥

Compute the quantities

f(xo) = bo + biIn(xg — b2) + b3z + b4$3
F(T) = by + by In (T — by) + bsT + by T?

b
/(o) = —— + by + 2byx0
o — b2

by using the previously obtained
xo and the coefficients (C4).

(Compute the first iterate x1 using (C5) with k = 0, ie.|

Raln (£) = £(T) + f(a0)
f'(wo)

Tr1 = Ty —

Compute

f(z1) =bo + by 1In (z1 — be) + bzz1 + b4x%

b
fl(x1) = L by + 2b41
xr1 — bg
by using the previously obtained
x1 and the coefficients (C4).

Y

Compute the second iterate x4 using (C5),
with & = 1 and the obtained z1, i.e.

Raln (£) = £(1) + f(@1)
B [(a) '
'

Set §(2) = 2, as the final approxima-
tion to the reference potential temper-
ature 0, of the ideally behaving air.

T2 = X1




